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1. � p = (x− y)(x− z) + 3x2y2z2 − x3 − 2 ∈ Z[x, y, z].

(i) O� p �àg©).

(ii) O� degx(p), degy(p), degz(p) Ú deg(p).

2. ¦ Q[x] ¥gê�u 3 �õ�ª f(x) ¦� f(0) = 2, f(1) = 1, f(3) = 0.

3. � f = x3 − 3x+ 2 ∈ Q[x]. ¦ f �Ã²�Ü©.

4. � A ∈ Mn(F ), Ù¥ F ´�. �
 A �,P� tr(A). - f(t) = det(tE −A) ∈ F [t].

(i) y²: degt(f) = n.

(ii) y²: f ¥'u tn−1 �Xê�u −tr(A).

(iii) �: f 3 F ¥k n �� α1, . . . , αn. y²: α1 + · · ·+ αn = tr(A).

5. � F ´�, h ∈ F [x1, . . . , xn] \ F ´àg�õ�ª. y²: h 3 F [x1, . . . , xn] ¥�Ï

fÑ´àg�.

6. (À�) XÛO� p ∈ Q[x] �Ø��üÏf�È? (üÏf´�­ê�u 1 �Ïf).
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